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Question 1

Question Type: MultipleChoice

Given the information in the following tables:

Online transactions:

Customer ID Channel Segment Amount ($)
001 Online Existing 3,000

002 Online Existing 4.000

003 Online New 1,500
In-store transactions:

Customer ID Channel Segment Amount ($)
001 In-store New 1,000

004 In-store Existing 4,000

005 In-store New 3,500

Which of the following describes merging these tables to create a master file that includes all transactions for both online and in-store

sales?

Options:




A- Data audit
B- Data completeness
C- Data validation

D- Data consolidation

Answer:

D

Question 2

Question Type: MultipleChoice

Which of the following concepts should be applied if a data set with 40 fields needs to be pared down to 20 fields and contains similar
data across multiple fields?

Options:

A- Duplication

B- Consolidation



C- Compliance

D- Standardization

Answer:

B

Question 3

Question Type: MultipleChoice

An analyst develops an IT document and needs to describe the technical terms used in the document. Which of the following is where
the analyst should include descriptions of the technical terms?

Options:

A- Glossary
B- System diagram
C- User requirements

D- Index



Answer:

Question 4

Question Type: MultipleChoice

Which of the following is a KPI metric for tracking sales performance?

Options:

A- Order status percentage
B- Customer acquisition percentage
C- Gross profit percentage

D- Click-through rate percentage

Answer:

C



Question 5

Question Type: MultipleChoice

Which of the following would be the best way to identify multicollinear attributes in a data set?

Options:

A- Correlation coefficient
B- Chi-squared test
C- Two-sample f-test

D- Two-way ANOVA

Answer:

A

Question 6

Question Type: MultipleChoice




An analyst reviews the following data:
7

3

7
10

Which of the following is the value of the mode?

Options:

A-3
B-5
C-7



D- 10

Answer:

Question 7

Question Type: MultipleChoice

Given the diagram below:

Extract

Transform

*  Retrieve data from
warehouse

Profile data
Remove missing values

Which of the following steps is missing?



Options:

A- Remove redundant data.
B- Validate the data types.
C- Connect to the data API.

D- Normalize the data.

Answer:

B

Question 8

Question Type: MultipleChoice

A report is scheduled to run and be distributed at the end of business each day. On Mondays, one of the recipients opens the previous
week's reports and combines them to calculate the weekly totals and projections for the coming week. This is a tedious process, and the
recipient asks an analyst for help. Which of the following should the analyst recommend?

Options:




A- Add calculation fields to the daily report so the totals are built in.
B- Create a new report with weekly totals set to run at the end of business on Friday.
C- Provide a daily summary to the report with totals to save the user the effort of manual calculations.

D- Reduce the frequency of the report to once a week and change the date range.

Answer:

B

Question 9

Question Type: MultipleChoice

A data analyst needs to create a dashboard to help identify trends in the data sets. Which of the following is an appropriate consideration
for dashboard development?

Options:

A- Data sources and attributes

B- Frequently asked questions



C- A report from the data source

D- A comparison of data sets

Answer:

A

Question 10

Question Type: MultipleChoice

Given the following grocery store orders:

Order ID |Order_total
85495  |$132.49
28597  [$108.99
57490  [$96.19
35806  |$74.49
18014  |$178.59
39725  [$41.99
20935  [$136.99
25402  [$31.29
85023  |$24.49
27933  [$76.99




If a query is made to the table with the following logic:
Order_Total > 132 OR (Order Total >= 25 AND Order_Total

Which of the following is the number of orders that will be returned by the query?

Options:

A- Four
B- Five
C- Six

D- Seven

Answer:

C

Question 11

Question Type: MultipleChoice




A data analyst has removed the outliers from a data set due to large variances. Which of the following central tendencies would be the
best measure to use?

Options:

A- Range
B- Mean
C- Mode

D- Median

Answer:

B
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